
EVERLAST CLIMBINGTM

INSTALLATION INSTRUCTIONS FOR ADAPTIVE HAND HOLDS

! 
WARNING 

THE PROPER CARE AND ONGOING MAINTENANCE OF YOUR CLIMBING WALL IS  
ESSENTIAL AND IS YOUR RESPONSIBILITY.  PLEASE REFER TO THE  

SAFETY, CARE AND MAINTENANCE INSTRUCTIONS. 

MANUFACTURED BY: EVERLAST CLIMBINGTM  800.476.7366 2/22/13

FOOT HOLD INSTALLATION INSTRUCTIONS: 
(Please read all instructions thoroughly before starting to install)

1.  Place Adaptive Foot Hold over desired hole pattern ~ 12” apart 
     for the blue foot holds or ~ 24” apart for the red foot holds.
2.  Insert 3/8” x 5 ½” Hex bolt with a 3/8 washer into slotted holes, 
     find the T-nuts, and hand screw them in to start them.
3.  Using a 9/16 “socket in a socket wrench, ratchet the bolts tight. 
     (Take care not to cross-thread the T-nuts.)

Adaptive Foot Hold Hardware

<  9/16” socket & socket wrench (NOT included)

<  3/8” x 5 ½” hex bolt with 3/8” washer (included)

HAND HOLD INSTALLATION INSTRUCTIONS: 
(Please read all instructions thoroughly before starting to install)

1.  Insert 3/8” x 2” bolt through Adaptive Hand Hold and into the climbing wall.
2.  Place Adaptive Hand Hold over desired hole (T-nut) in wall, lining up the hole
     in the hand hold with the hole in the climbing wall.
3.  Using the special 5/16 Allen Wrench (included), 
     gently start threading the bolt into the T-Nut.  
     (Take care not to cross-thread the T-nuts.) 
     Spin the wrench and tighten the hold to desired
     desired position (vertical, horizontal or angled).

Adaptive Hand Hold Hardware

5/16 Allen Wrench (included)  >

3/8” x 2” Bolt (included)  >

NOTE: Hand Holds are only for use with certain Everlast ClimbingTM walls. Call for details.  
Please use provided mat loop extensions, if adding holds to wall with existing mat-locking system.


